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3. 03xx2
4
1 =++−  � 6x01 =   2x02 −=  

4. 020x37x8 2 =−+−  � 4x01 =   625,0x 8
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5. 0xx 2
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3 =+  � 0x01 =   167,8x 6

49
02 −≈−=  

6. 020x4x5x 23 =−−+  
2x01 =   � 10x7x)2x(:)20x4x5x( 223 ++=−−−+  � 2x02 −=  5x03 −=  

2x01 −=   � 10x3x)2x(:)20x4x5x( 223 −+=+−−+   � 2x02 =  5x03 −=  

5x01 −=   � 4x)5x(:)20x4x5x( 223 −=+−−+   � 2x02 =  2x03 −=  

7. 04x13x9 24 =+−   9|:  � 0xx 9
42

9
134 =+−  � Subst.: zx2 =  � 0zz 9

4
9

132 =+−  

   � 9
4

1z =  � Rücksubst.: 9
42x =  � 3

2
01x =   3

2
02x −=  

   oder 1z2 =  � Rücksubst.: 1x2 =  � 1x03 =   1x04 −=  

8. 024x35x14x10x 234 =++++  
A) 1x01 −=  � 24x26x9x)1x(:)24x35x14x10x( 23234 +++=+++++  

B) 2x01 −=  � 12x19x8x)2x(:)24x35x14x10x( 23234 +++=+++++  

C) 3x01 −=  � 8x14x7x)3x(:)24x35x14x10x( 23234 +++=+++++  

D) 4x01 −=  � 6x11x6x)4x(:)24x35x14x10x( 23234 +++=+++++  

zu A) 2x02 −=  � 12x7x)2x(:)24x26x9x( 223 ++=++++  � 3x03 −=   4x04 −=  

  3x02 −=  � 8x6x)3x(:)24x26x9x( 223 ++=++++  � 2x03 −=   4x04 −=  

  4x02 −=  � 6x5x)4x(:)24x26x9x( 223 ++=++++  � 2x03 −=   3x04 −=  

zu B) 1x02 −=  � 12x7x)1x(:)12x19x8x( 223 ++=++++  � 3x03 −=   4x04 −=  

  3x02 −=  � 4x5x)3x(:)12x19x8x( 223 ++=++++  � 1x03 −=   4x04 −=  

  4x02 −=  � 3x4x)4x(:)12x19x8x( 223 ++=++++  � 1x03 −=   3x04 −=  

zu C) 1x02 −=  � 8x6x)1x(:)8x14x7x( 223 ++=++++  � 2x03 −=   4x04 −=  

  2x02 −=  � 4x5x)2x(:)8x14x7x( 223 ++=++++  � 1x03 −=   4x04 −=  

  4x02 −=  � 2x3x)4x(:)8x14x7x( 223 ++=++++  � 1x03 −=   2x04 −=  

zu D) 1x02 −=  � 6x5x)1x(:)6x11x6x( 223 ++=++++  � 2x03 −=   3x04 −=  

  2x02 −=  � 3x4x)2x(:)6x11x6x( 223 ++=++++  � 1x03 −=   3x04 −=  

  3x02 −=  � 2x3x)3x(:)6x11x6x( 223 ++=++++  � 1x03 −=   2x04 −=  

9. 0x2x3x2 47 =−+  � 0)1xx(x2 3
2
36 =−+⋅  � 0x01 =  oder 01xx 3

2
36 =−+   

� Subst.: zx3 =  � 01zz 2
32 =−+  

  � 2
1

1z =  � Rücksubst.: 2
13x =  � 7937,0x 3

2
1

02 ≈=  

   oder 2z2 −=  � Rücksubst.: 2x3 −=  � 260,12x 3
03 −≈−=  

10. 0x6x11x6x 357 =−+−  � 0)6x11x6x(x 246 =−+−⋅ � 0x01 =  oder 06x11x6x 246 =−+−  

� Subst.: zx2 =  � 06z11z6z 23 =−+−  
1z01 =   � 6z5z)1x(:)6z11z6z( 223 +−=−−+−  � 2z02 =  3z03 =  

2z01 =   � 3z4z)2x(:)6z11z6z( 223 +−=−−+−  � 1z02 =  3z03 =  

3z01 =   � 2z3z)3x(:)6z11z6z( 223 +−=−−+−  � 1z02 =  2z03 =  

� Rücksubst.: 1x2 =  � 1x02 =  1x03 −=  

   2x2 =  � 2x04 =  2x05 −=  

  3x2 =  � 3x06 =  3x07 −=  


